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Class 11 Maths NCERT Solutions Chapter - 4

Principle of Mathematical Induction Class 11

Chapter 4 Principle of Mathematical Induction Exercise 4.1 Solutions

Exercise 4.1 : Solutions of Questions on Page Number : 94

Ql:

Prove the following by using the principle of mathematical induction for all n € N:

(5-1)

2

1+3+F +...+3"" =

Answer :

Let the given statement be P(n), i.e.,

- [SJ:—I]
PMn):1+3+3+..+3"= L ____ 71
2
For n =1, we have
(41
P(1):1:{.3__'):E:E:1 , which is true.
2 2 2

Let P(k) be true for some positive integer Kk, i.e.,

(3" -1)
2

We shall now prove that P(k + 1) is true.

1+3+3 +..+3" =

(D)

Consider
1 + 3 + 32 + + 3k—1 + 3(k+1)—1

S(1+3+3+.. +3)+3"

=2 ‘43 [Using (i)]




Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q2:

Prove the following by using the principle of mathematical induction for

2

]

alneN: P+2+3 4+ +n =[

Answer

Let the given statement be P(n), i.e.,

>

PP 34 +n_a_{”{”+]}J_
> .

P(n):
For n =1, we have

1+0Y 127V
P(1): 13=1=[¥] =[T] =|'=|,whichistrue.

Let P(k) be true for some positive integer k, i.e.,

k{k+1) :
2

P+2 +3 +...+k" =

We shall now prove that P(k + 1) is true.
Consider

P+22+3F+.. +kK+(Kk+1)



=[@J-+[k+|]i [Using {I]]

:J[f:{'ﬁk—Jr]]_+{ﬁc+l}3
kK (k+1) +4(k+1)
) 4
(k+l}:{k:+4[.ﬁr+l}}
- 4
(k+1)" {k* +4k + 4]
) 4
(k+1) (k+2)
4
(k+1) (k+1+1)
4

:[(ﬁc+l}{k+l+l}]:

-

=S(P+22+3+ ...+ K+ (k+ 1) 2

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q3:

Prove the following by using the principle of mathematical induction for
] 2n

O+ + +...+ -
ANEN TR 2)  (1+2+3) T (14243 4.m) (n+1)

Answer :
Let the given statement be P(n), i.e.,
1 1 2n

P(n): 1+ + +...t =
1+2 1+2+3 1+2+3+..n n+l

For n =1, we have

P(1): 1= a = E =1 which is true.

1+1 2

Let P(k) be true for some positive integer k, i.e.,



1 1 1 2k
+ +.t +ot =
1+2 [+2+3 1+2+3+..+4 k+1

1 (i)

We shall now prove that P(k + 1) is true.

Consider

I l | I

1+ + +...+ +
1+2 1+2+3 [+2+34. +k 1+2+3+. +hk+(k+1)

=[I+ 1 + : +o.+ ! ]+ !
1+2 14243 1+2+3+ k) 14243+ _+k+{k+])

2% ! _
Tkl 42434 Ak (k+]) [Using ]
2 1 ”_n[n+1]
T (k+1)(k+1+1) [I+2+3+"'+ 2
s
_ 2% 2
C(k+1) (k+1)(k+2)
2 1
={k+1][k+k+2]
2 [ k(k+2)+1
_k+l[ k+2 J
R fc’+2k+l]
C(k+D)L k2
~2-(k+1)
(k1) (k+2)
C2(k+1)
T (k+2)

Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q4:

Prove the following by using the principle of mathematical induction for all n € N: 1.2.3 +2.3.4 + ... +n(n + 1)

n(n+1)(n+2)(n+3)
4

(n+2)=



Answer

Let the given statement be P(n), i.e.,

n(n+1)(n+2)(n+3)
4

P(n):1.23+234+ ... +n(n+1)(n+2)=
For n =1, we have

1(1+1)(1+2)(1+3) 1234
4 4

P(1):1.23=6= = {p , which is true.

Let P(k) be true for some positive integer Kk, i.e.,

k(k+1)Ak+2)k+3
123+234+ .. +kk+1)(k+2) = { T }( 4+ ]{ e, ... (1)

We shall now prove that P(k + 1) is true.

Consider

1.23+234+ . +kk+1)(k+2)+(k+1)(k+2)(k+3)
={1.23+234+ .. +kk+1)(k+2}+(k+1)(k+2)(k+3)

_ k(k+1)(k+2)(k +3)+
4

~ (k+1)(k +z)(x+3)[§+u]

(k+1)(k+2)(k+3) [Using (i)]

(K+1)(k+2)(k+3)(k+4)
4
_ (A+1)(k+1+1)(k+14+2)(k+1+3)
4

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q5:

Prove the following by using the principle of mathematical induction for

5 (2n-1)3""+3
alneN: 13423 +3.3 +...+n3" =




Answer

Let the given statement be P(n), i.e.,

(2n-1)3"143
4

pn): 1.3+2.3° 433 +..+n3" =
For n =1, we have

(2.1-1)3""+3 343 12

P(1):1.3=3 = =
4 4 4

=3 , whichis true.

Let P(k) be true for some positive integer k, i.e.,

_(2k-1)3""+3

; (i)

134237 +3.3 4. .+ &3

We shall now prove that P(k + 1) is true.
Consider
1.3+2.3+3.3+ ... +k3+ (k + 1) 3**

=(1.3+23+3.3+..+k3)+(k+1) 3

Jy‘_]]:{ 3 )3 [Using ()]
(2k-1)3 43+ 4(k+1)3"
- 4
32k —1+4(k+1)}+3
- 4
36k +3]+3
N 4
C3M3{2k+1)+3
4
32k 41} +3
- 4
12(k+1)-1}3""" 43
4

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q6 :

Prove the following by using the principle of mathematical induction for

1 2
allneN: 1,2+2.3+3,4+..,+H.{n+1}=|:"{”+;{”"' }}



Answer

Let the given statement be P(n), i.e.,

)(n+2
1,2+2.3+3.4+,..+n.{n+1}:["[”+ ;{’H }}

P(n):
For n =1, we have

1(1+1)(1+2) 123

P(1): 1.2=2= 3 =2 which is true.
Let P(k) be true for some positive integer k, i.e.,
klh+1){k+2
I.2+2,3+3,4+.,.,.+k.[k+I):[ ( 2{ )] i)
o

We shall now prove that P(k + 1) is true.
Consider

12+23+34+ .. +k(k+1)+Kk+1).k+2)
=[1.2+23+34+ .. +k(k+1)]+k+1).k+2)
Ck(k+1)(k+2)

= ; +(k+1)(k+2) [Using (i)]

=(k+1)(k +2][%+]]

(k+1)(k+2)(k+3)

3
(A+1)(k+1+1)(k+1+2)

3

Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q7:
Prove the following by using the principle of mathematical induction for
n(4n’ +6n-1)

alneN: 1.3+3.5+5.7+...+(2n-1)(2n+1) = -



Answer :
Let the given statement be P(n), i.e.,
n( 40’ +6n—-1)

P): 1.3+3.5+5.7+..+(2n-1)(2n+1) = ]

For n =1, we have

1(4.1-’+ﬁ.|—|]_4+5_1_g

P(1):1.3=3=
(1) 3 3 3

=3 , whichis true.

Let P(k) be true for some positive integer k, i.e.,

k(4K +6k-1)

-

1.3+3.545.7+....+(2k-1)(2k+1)= (i)

We shall now prove that P(k + 1) is true.
Consider
(1.3+35+57+...+(2k-1)(2k+1) +{2(k + 1) - TH2(k + 1) + 1}

k(44 +6k-1) | N
= 3 +(2k+ 2—I}{2£+2+I] [Umng{lj]
k(47 +6k-1)

+(2k+1)(2k +3)

_ ’r"[“;fﬁk—])+(4k3+sx +3)
-+
k(47 +6k—1)+3(4k +8k +3)
3

A6k —k+1247 + 24K+ 9

-
"

AR+ 18K+ 23449
3
1T 9k AT+ 14449

-
2

k(45 + 14k +9)+1(4k° +14k+9)
3
(k+1)(44* +14k +9)
3




(k+1){4k" +8k+4+6k+6-1|

{k+4}{4(k]+ék+4)+ﬁ(k+4]—l}
B 3
(k+1){4(k+1) +6(k-+1)-1}
- 3

Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n

Q8 :

Prove the following by using the principle of mathematical induction for all n € N: 1.2 + 2.2* + 3.2* + ... + n.2"=
(n-1)27+2

Answer :

Let the given statement be P(n), i.e.,
P(n):1.2+22*+3.2°+ ...+n2"=(n-1) 2™ + 2

For n =1, we have

P(1):1.2=2=(1-1)2"+2 =0+ 2 =2, which is true.
Let P(k) be true for some positive integer k, i.e.,1.2 + 2.2?
+3.2%+ . +k2=(k-1)2""+ 2 ... (i)

We shall now prove that P(k + 1) is true.

Consider

{1242.2° +3.2° + .+ k2 + (K +1)- 24
=(k=1)2"" +2+(k+1)2""

=2t {{k—1}+[k+1}}+

=212k +2

= k2% 42

={(k+1)- 1] AR AL,

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbersi.e., n



Q9:

Prove the following by using the principle of mathematical induction for

allneN: l+l+]_+‘“ ] = I

4 8 i 2"

Answer :

Let the given statement be P(n), i.e.,

11 1 1 1

P()! —d—mdm e, b= =—
8 g 2"
For n =1, we have
P(1): l = “i| =i, which is true.
g

Let P(k) be true for some positive integer k, i.e.,
1 1 1 1 | .
—+—t—tuit—=1-— 1)
2 4 8 2 2
We shall now prove that P(k + 1) is true.
Consider
1 1 1 1
NP P +T + =]
V2 4 B 2 2

1y 1 L
:[|_7J+_2;_| [Using (i)]

] ]
:I— I-|- -

2t 2.2

11
:“?[5]
1
_zt-r]

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n

Q10:

Prove the following by using the principle of mathematical induction for

] ] 1 | 1
alneN: —+—+—+... =
2.5

58 811 7 (3n-1)(3n+2) (6n+4)




Answer :
Let the given statement be P(n), i.e.,
1 1 H

+ P =
811 " (Bn-1)(3n+2) (6n+4)

P(n): — 4 —
25 58

For n =1, we have

1 1 1 1
P [ I] ——_— = = = —
215 ]u "5.|+4 ]{] ,Which is true.
Let P(k) be true for some positive integer Kk, i.e.,
1 1 | I k

+—+ 4.+ =
25 58 8.11 (3k=1)(3k+2) o6k+4

(1)

We shall now prove that P(k + 1) is true.

Consider

L I I

2558 811 "'""+{3k—]}{3!:+2}+{3[k+l)—l}{3{k+1}+1}

k., [

S 6k+4 (3k+3-1)(3k+3+2)
k |

T6k+4 (3k+2)(3k+9)

k. 1

T 2(3k+2) (3k+2)(3k+5)

[Using (i)]

L (k1 ]
(Gk+2)L 2 3k+5
1 [k(3k+5)+2)
T (3k+2) 2(3k+5) J
o 3k +5k+2
C(3k+2)| 2(3k+5)

1 [((Bk+2)(k+1))
C(3k+2)| 2(3k+5)
(k1)
6k +10
(k+1)

6(k+1)+4



Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n

Q11:

Prove the following by using the principle of mathematical induction for

| | ﬂ{n+3}

I I
) + + O ooohr =
alneN: T 34 345 n(n+1)(n+2) 4(n+1)(n+2)

Answer :
Let the given statement be P(n), i.e.,

I R I _ n(n+3)
3 234 345 n{n+l][n+2}_4{n+l][n+2)

o | =

1.
P(n):

For n =1, we have

1 1-(1+3) 1-4 .
= = , which is true.

P(1): =
[}1-2-3 4(1+1)(1+2) 4.2:3 1.2:3

Let P(k) be true for some positive integer k, i.e.,

| | | | k(k+3) .
+ + +...+ = 1)
1-2:3 2.3-4 3.4.5 k(k+1)(k+2) 4(k+1)(k+2)

We shall now prove that P(k + 1) is true.

Consider



L ! !
[|-2.3+2-3-4+3-4~5 +k(k+|]{k+z]}(kn](mz]{k +3)
k(k+3) 1

Tk (k+2) (kD (k+2)(k+3) [Using (]

- I [k(k+3) 1
_{J!.'+l}{.fc+2}1 4 +k+3}

L £+3) 4}

{Ir+l} (k+2) (k+3

| ¢
' [k (k*+6k+9)+4
(ﬁ.+l}{.{+2}1 4{“3)

6k +9%k +4
Ic+3

={k+l} k+2)

) 1 [k + 24 + k + 4k +Ek+4}
Tk (k+2) ) 4(k+3)
1 [K(F 2k 1)+ 4(k £ 2k +1)]
(k1) .=1+2}l 4(k +3) J

{k{k+l]z+4[k+ljz}
)

4(k +3)
)

_ I

(k+1)(k+2
(k1) (k+4
T 4(k+1)(k+2)(k +3)
(k1) {(k+1)+3
4{(k+1)+1H{(k+1)+2]

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Ql2:
Prove the following by using the principle of mathematical induction for

_Izcr(r”—l]

=1

4
alneN: g+ar+ar +..+ar"



Answer :
Let the given statement be P(n), i.e.,
(r(r” -1
P(n):a+ar +ar’ +..+ar" =—IJ
r—

For n =1, we have

a(r' ~1)

p“} fi = ——— = ¢, which is true.

(1)

Let P(k) be true for some positive integer Kk, i.e.,

2 = .
d+ar+ar’ +.... +ar' = ———— (1)

We shall now prove that P(k + 1) is true.

Consider

{a+ar+w': s +ar '}v+.cij1"“’"]'l

=ﬁ+m‘ [USinE(i}]
_ a[r —])+ur' {f‘—l}
r—1

a(.r'" —])+ ar'™ —art

r=1
_ar'—a+ar™ -art
N r—1
_w"’”'—n
o]
a(r*"—l)
e

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q13:

Prove the following by using the principle of mathematical induction for

allneN: [1+I£][I+§)(l+g]...[l+(gz—:”] =(”+|}:



Answer :

Let the given statement be P(n), i.e.,

P(n) ;[H%J[H%][I +%],,,[I+(2::I]] =(n+1)’

For n =1, we have

P[l]:[1+%]= 4=(1+1)" =2° =4, which is true.

Let P(k) be true for some positive integer k, i.e.,

(1+%J[|+%)(|+%]..,[|+{2i—f”]:{a-+1)" - (1)

We shall now prove that P(k + 1) is true.

Consider

[ 1
= (k+1)* I+%] [Using(l}]

(b (k1) +2(k+1)+1
=(k+1) I (k+1) ]
(k+1) +2(k+1)+1
:{(k+1}+l}:

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q14

Prove the following by using the principle of mathematical induction for

S

Answer :

Let the given statement be P(n), i.e.,

p(n}-,(u%][u%](u+%]...[|+%J:{n+|}



For n =1, we have
p(|};(| +%]: 2 :{14.]] , Which is true.

Let P(k) be true for some positive integer k, i.e.,

P[A’}:[HH[I+%][]+%],,,[I+%]={k+l} ()

We shall now prove that P(k + 1) is true.

Consider

(G C R C

=(k+ |}[|+ﬁ] [ Using (1)]

| G|
=(k+1)+1

Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q15:

Prove the following by using the principle of mathematical induction for

alneN: 1°+3° 45 +...+{3n—1]: = ”{2”_]}[2”4']}

Answer :

Let the given statement be P(n), i.e.,

o . n(2n-1)(2n+1
P{n}:1-+3-+5-+,..+{2n—|]-z”[ ! 3}{ S,

For n=1. we have

) W2 1=-1}2.1+1
P(I]:I*:I: { l{ i }:]';'3:]. which is true.

Let P(k) be true for some positive integer k, i.e.,
k(2k=1)(2k+1)

P(k)=1+3"+5 4 +(2k-1) = :



We shall now prove that P(k + 1) is true.

Consider
{|:+3:+51 +___+[jk_|]:}+{2{k+|:I—|}:

( =1)(2k+1)
3
_k(2k=1)(2k+1)

3
k(2k=1)(2k+1)+3(2k +1)’
_{2&+I][ﬁ{2kil)+3{2k+lj}
- 3
:{2k+|){2k3—ﬂ'+6k+3}
_(2k+1){24° + 5k + 3}

3
(24 +1){2k + 2k +3k + 3]

3
(k1) {2k (k+1)4+3(k+1))
- 3
={2k+1}{k+1}{2k+3}

3

(k+1){2(k+1) =1} {2(k+1)+1}
B 3

Thus, P(k + 1) is true whenever P(k) is true.

+(2k+2-1) [ Using (1)]

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q16

Prove the following by using the principle of mathematical induction for

1 1 1 | "
alneN: 7+ =

147277710 (Gu-2)(3n+1)  (3n+1)

Answer :

Let the given statement be P(n), i.e.,



1 1 1 1 n
T4 a7 700 T Gr=2)(n+1) (3n+1)
For n=1. we have
1 1

| C
( }=—= =—=—/_which is true.
1.4 3.1+1 4 14

Let P(k) be true for some positive integer k, i.e.,

)_L S S __k - (1)
14 47 7.10 (3k-2)(3k+1) 3k+1

We shall now prove that P(k + 1) is true.

Consider

I ! I
{ﬁJrﬁJr?_m+'”+(3&—2){3k+|]}+{3{k+1}-2}{3(#+|]+|}
k 1 i
T3ke1 (3k+1)(3k +4) [Usine (1)
I
k+(3ff+4}

|
|

qJ

{3& +4)

3k +dk+1
(3k +4)

o {Jkl+3k+k+ﬂ
Sk | (Gk+4)
C (Bk1)(k+1)

3k +1)(3k+4)
(k1)

3(k+1)+1

Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.



Q17:

Prove the following by using the principle of mathematical induction for

1
alneN, —+—+—+4+...+

n

59 7.9

Answer :
Let the given statement be P(n), i.e.,

(2n+1)(2n+3)  3(2n+3)

1 "
Pln): —+—+...+ =
(n) 35 57 1.9 (2n+1)(2n+3) 3(2n+3)
For n =1, we have
1 I I
P(l):—=————=—
{]3.5 3(2.1+3) 35
, which is true.
Let P(k) be true for some positive integer Kk, i.e.,
| I 1 | k
Plk) —+—+—+... = 1
) 3557 70 @)k +3) " 3(2k+3) )

We shall now prove that P(k + 1) is true.

Consider



111 ! 1
3557 79 T (2k+1)(2 Jr:%}}r 2(k+1)+1}{2(k+1)+3}
k ! |
T3(2k+3)  (2k+3)(2k+3) [Using (1)]

L |k
T(2k+3)| 3 (2k+3)
1 k(2K +5)+3
(2k+3)| 3(2k+5)
1 268 +5k+3
(2k+3)| 3(2k+3)
1 [ 2K +2k+3k+3
C(2k+3)| 3(2k+5)
1 [2k(k+1)+3(k+1)
C(2k+3)| 3(2k+5)
(k+1)(2k+3)

3(2k +3)(2k +5)

- (k+1)
3{2(k+1)+3]

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbersi.e., n

Q18 :

Prove the following by using the principle of mathematical induction for

1 a
14243 +..+n<—(2n+1)
all n € N: 8

Answer :

Let the given statement be P(n), i.e.,

P[n}:l+2+3+...+n{%{2n+1]z

=]

It can be noted that P(n) is true for n = 1 since | < 1(2.1 1 |]: = —

[=s)

Let P(k) be true for some positive integer k, i.e.,



1+2+..+k {%{Ekﬂ}: (1)

We shall now prove that P(k + 1) is true whenever P(k) is true.

Consider

(14244 k)+(k+1)< ;(Zk #1)° +(k+1) [ Using(1) ]

<,

N(2k+1)"+8(k+1)]

- 00

<~{4k"+4k+l+8k+8}
8

<l‘4k’+|2k+9}

{l+2+3+...+k}+[k+I]{%[Eﬁw I]: +(k+1)

Hence,

Thus, P(k + 1) is true whenever P(K) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q19:

Prove the following by using the principle of mathematical induction forallneN: n(n+1)(n +5)is a

multiple of 3.

Answer :
Let the given statement be P(n), i.e.,

P(n): n (n + 1) (n + 5), which is a multiple of 3.

It can be noted that P(n) is true forn =1 since 1 (1 + 1) (1 + 5) = 12, which is a multiple of 3.

Let P(k) be true for some positive integer k, i.e.,

k (k + 1) (k + 5) is a multiple of 3.

~k(kk+1)(k+5)=3m, wheremeN ... (1)

We shall now prove that P(k + 1) is true whenever P(k) is true.

Consider



(k+D){(k+1)+1}{(k+1)+5}
=(k+1)(k+2){(k+5)+1}
=(k+1)(k+2)(k+5)+(k+1)(k+2)

= {k(k+1)(k+5)+2(k+1)(k+5)}+(k+1)(k +2)
=3m+(k+1){2(k +5)+(k+2)}
=3m+(k+1){2k +10+k +2}
=3m+(k+1)(3k +12)
=3m+3(k+1)(k+4)
=3{m+(k+1)(k+4)} =3xq. where g ={m+(k+1)(k+4)} is some natural number
Therefore, {k + ]}{[k + lj + 1}{[3’; + I} +5} is a multiple of 3.
Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q20 :

Prove the following by using the principle of mathematical induction for all n € N: 10™ ** + 1 is divisible by 11.

Answer :

Let the given statement be P(n), i.e.,

P(n): 10*" ' + 1 is divisible by 11.

It can be observed that P(n) is true for n = 1 since P(1) = 10>'"" + 1 = 11, which is divisible by 11.
Let P(k) be true for some positive integer Kk, i.e.,

10*" + 1 is divisible by 11.

+10*%"+1=11m, wherem € N ... (1)

We shall now prove that P(k + 1) is true whenever P(k) is true.

Consider



107 4

=107 +1

=10 41

=107 (1077 +1-1)+1

=10° (10" +1)=10° +1

=10%11m—-100+1 [ Using (1) ]
=100 1 1m =99

=11(100m -9)

=11r, where r =(100m—9) is some natural number

Therefore, 10" 41 is divisible by 11.

Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q21:

Prove the following by using the principle of mathematical induction for all n € N: x*" - y*" is divisible by x +y.

Answer :

Let the given statement be P(n), i.e.,P(n): x**- y* is divisible by x +y.

It can be observed that P(n) is true for n = 1.

This is so because x> - y*** = x>~ y* = (x + y) (x - y) is divisible by (x +y).
Let P(k) be true for some positive integer k, i.e.,x* - y* is divisible by x +y.
LX*-y*=m(x+y), wheremeN ... (1)

We shall now prove that P(k + 1) is true whenever P(k) is true.

Consider



2Ak+ 2k
s L L)

2% 2 @ 2

=x*.xt =y

gl (x:l e )_ .

= x* -{m(,\'+y)+y:"}—y:‘ oy [Using (I):|
= m(JH-_l').\'2 +yHoxt =yt

=m(x+y)x’+y™* (¥ - '\':)
=m(x+y)x’+y* (x+3)(x-»)
=(x+y){mx’ + y* (x-y)}. which is a factor of (x+ ).

Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n

Q22:

Prove the following by using the principle of mathematical induction for all n € N: 3*"*?-8n - 9 is divisible by 8.

Answer :

Let the given statement be P(n), i.e.,P(n): 3*" **-8n - 9 is divisible by 8.

It can be observed that P(n) is true for n = 1 since 3****? - 8 x 1- 9 = 64, which is divisible by 8.
Let P(k) be true for some positive integer k, i.e.,3*? - 8k - 9 is divisible by 8.
»3%2-8k-9=8m;wheremeN... (1)

We shall now prove that P(k + 1) is true whenever P(k) is true.

Consider



3 8 (k+1)-9
:3]J.'+J_3] _gk _3_{}
=37 (3" -8k —9+8k+9) -8k —17

-

=37 (3% -8k —9)+ 3 (8k +9) -8k —17
=9.8m+9(8k+9) -8k —17

=0 8m+72k+81-8k-17
=0 8m+ 64k +64
:B(QHHBJ"{ +3]

=8r. where r = {{}m + Bk +3} is a natural number
Therefore, 3" —8(k +1)-9 is divisible by 8.
Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q23:

Prove the following by using the principle of mathematical induction for all n € N: 41" - 14" is a multiple of 27.

Answer :
Let the given statement be P(n), i.e.,

P(n): 41" - 14"is a multiple of 27.

It can be observed that P(n) is true for n = 1 since 4]' —14' = 27, which is a multiple of 27.
Let P(k) be true for some positive integer k, i.e.,

41 - 14%is a multiple of 27

~41%-14=27m, where m e N ... (1)

We shall now prove that P(k + 1) is true whenever P(K) is true.

Consider



415 —14*

=41*-41-14" - 14

=41(41" - 14" +14")-14" .14

=41(41' -14" ) +41.14" —14" .14

=41.27m+14" (41-14)

=41.27m+27.14"

=27(41m—14")

=27x=r, where r :(:Hm— I:I*) is a natural number
Therefore, 41" = 14" is a multiple of 27.

Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.

Q24 :

Prove the following by using the principle of mathematical induction for all 1 & N:
(2n +7) < (n + 3)°

Answer :

Let the given statement be P(n), i.e.,

P(n): (2n +7) < (n + 3)?

It can be observed that P(n) is true for n = 1 since 2.1 + 7 =9 < (1 + 3)* = 16, which is true.
Let P(k) be true for some positive integer k, i.e.,

2k+7)<(k+3)y...(1)

We shall now prove that P(k + 1) is true whenever P(k) is true.

Consider
{2(k+1)+7} =(2k+7)+2
s{2(k+1)+7}=(2k +7)+ 2<(k+3) +2 [using (1)]

2(k+1)+7 <k’ +6k+9+2
2(k+1)+7 <k’ +6k+11

Now, k* +6k +11 <k’ +8k +16

2 2(k+1)+7 <(k+4)
2(k+1)+7 <f(k+1)+3}
Thus, P(k + 1) is true whenever P(k) is true.

Hence, by the principle of mathematical induction, statement P(n) is true for all natural numbers i.e., n.
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